
Orders
p < 0.001

≤ 149 > 149
Orders

p < 0.001

2

≤ 55 > 55
Orders

p < 0.001

3

≤ 19 > 19
Orders

p < 0.001

4

≤ 5 > 5
Dividends
p < 0.001

5

≤ 65745> 65745
Orders

p < 0.001

6

≤ 2> 2
Orders

p < 0.001

7

≤ 0> 0

Node 8 (n = 116)
0
Node 9 (n = 18)

0
Node 10 (n = 27)

0
Node 11 (n = 7)

0

Wealth
p < 0.001

12

≤ 382712 > 382712
Wealth

p = 0.045

13

≤ 289513 > 289513

Node 14 (n = 14)
0

Wealth
p = 0.035

15

≤ 317736> 317736
Wealth
p = 0.01

16

≤ 309560> 309560

Node 17 (n = 24)
0

Dividends
p = 0.014

18

≤ 61938> 61938
Dividends
p = 0.034

19

≤ 60646> 60646

Node 20 (n = 8)
0

Node 21 (n = 13)
0
Node 22 (n = 7)

0
Node 23 (n = 41)

0
Node 24 (n = 7)

0

Orders
p = 0.029

25

≤ 31> 31

Node 26 (n = 45)
0

Wealth
p = 0.018

27

≤ 394510> 394510

Node 28 (n = 28)
0
Node 29 (n = 7)

0

Wealth
p = 0.037

30

≤ 697458> 697458

Node 31 (n = 40)
0
Node 32 (n = 7)

0

Orders
p < 0.001

33

≤ 280> 280

Node 34 (n = 15)
0
Node 35 (n = 7)

0


